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(Please answer Question 1 to 3)

Assume that a household’s preferences are represented by the utility function
U=5InX+3InY, where X and Y are different commodities. And it faces a unit
price for X Py = $10 and for Y B, = $2 with a given income level E =$96.

L.Find then:
(2) The utility-maximizing consumption of X = 18.
(b) The utility-maximizing consumption of Y = 12.
() The utility-maximizing consumption of X = 6.
-(d) The marginal utility of income is 1/6.
(e) The marginal utility of income is 1/12,

2. Furthermore, suppose X is rationed by at X, = 5. In maximizing ufility, this
household will purchase all of the rationed amount of X and with its remaining
income some of Y. Thus,

(a) The household will purchase Y=33.

(b) The household will purchase Y=28.

(c) The household will purchase Y=23, _

(d) Utility associated with this ration allocation is then higher than that without
any rationing,

(e} Utility associated with this ration allocation is then lower than that without any
rationing,

3. Other things being equal, then,

(a) A quantity tax of $2 per unit on X is levied. Then, the tax revenue is 10, and
the equilibrium quantity Y= 18.

{b) A quantity tax of $2 per unit on X is levied. Then, the tax revenue is 36, and
the equilibrium quantity Y = 18.

(¢) A quantity tax of $2 per unit on X is levied. Then, the tax revenue is 10, and
the equilibrium quantity Y =5.

{d) Suppose a lump-sum tax of T* = $10 is imposed. Then, the equilibrium
quaniity X = 16.13, Y = 5.38. '

(¢) Suppose a lump-sum tax of T* = $10 is imposed. Then, the equilibrium
quantity X = 5.38, Y=16.13.

4, Assume that a household’s preferences are represented by the utility function
U = min [4X, 3Y], where X and Y are different commodities. And it faces a unjt
price for X P; = $1and forY B, = $3 with a given income level E =$120. Thus,
(a) the utility-maximizing consumption of X = 24.
(b) the utility-maximizing consumption of ¥ = 18,
(¢) the utility-maximizing consumption of Y = 28.
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(d) the income expansion path is Y = 4X/3.
(e) the income expansion path is Y = 3X/4.

5. Consider a household consumes goods X and Y with the utility function
UX,Y) = X% + Y?, where prices P, = $4 and P, =$3, and income E = $96, Then,
(2)The diminishing marginal rate of substitution of Y for X (MRS, ) axiom is
violated. |
{b) The diminishing marginal rate of substitution of Y for X (MRSyy ) axiom is
not violated.
(¢) The household’s optimal bundle is X =32 and Y = 0.
(d) The household’s optimal bundle is X =0 and Y = 32.
() The household’s optimal bundle is X =12 and Y = 16.

6. Consider the market demand and supply functions
Q¥ =26 —2P,Q*= —9 + 3P, ;

where P is the unit price. The government imposes acreage controls which shift the
market supply curve to Q¥ = —18/7 -+ 6P/7, other things being equal, then:

(a) Producers capture $12 of the consumer surplus and lose $6 in deadweight loss,

(b) Producers capture $18 of the consumer surplus and lose $6 in deadweight loss.

(¢) Producers capture $21 of the consumer surplus and lose $12 in deadweight

loss.
() Deadweight loss is $18.
(e) Deadweight loss is $21.

7. Consider the following domestic supply and demand functions for Happy
country:
Q*=3P, Q4=20-2pP.
Assuming international trade, with a world price of By = $1, quantity demanded
increases to 18 and domestic supply drops to 3. Suppose the government imposes an
import tariff of T = $2 per unit, then,
() Consumer surplus is $49, and producer surplus is $27.
(b) Producers surplus is $13.5, and tariff revenue is $10.
{c) Consumer surplus is $49, and producer surplus is $13.5,
(d) Producers surplus is $13.5, and deadweight loss is $6.
(e} Tariff revenue is $10, and deadweight loss is $10,

8. Assume the market demand curve and a 3C firm’s short-run total cost (SRTC)

curve are
Q=11-P/5, SRTC =3Q+1.

Profit maximization for this monopoly is then,
'(2) The output is Q =10.
(b} The price P = $20.
{(c) The Lerner Index is 5/6.
(d) Profit is $136.
{e) SRTC = §5.

: 4l
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9. Suppose a monopoly with the following long-run average cost (LRAC) function
and marginal cost (LRMC) function: LRAC=6-Q/2, LRMC=6-Q.
Let the inverse demand function for the monopoly’s output and marginal revenue
(MR} function be P =9 - 2Q, MR =9 — 4Q.
Then,
(2) The monopoly price is P =85, the profit is $3.0.
(b) The marginal-cost pricing is P= $3, the profitis —$4.5.
(¢) When the monopoly sets at P = $5, it could be a fully contestable market, and
will result in monopoly rent.
(d) When the monopoly sets at P = $5, it could.be a fully contestable market, and
will result in 110 monopoly rent. ,
{e) When the monopoly sets at P = $3, it could be a fully contestable market, and
will result in monopoly rent.

10. Suppose a monopoly faces the following market demand with short-run
marginal cost (SRMC) function:
Q4 =26 — 2P, SRMC = 3 + Q/3.

This monopoly can conduct a perfect price-discrimination; then;

(a) The monopoly captures consumer surplus of $24.

(b) The monopoly’s producer surplus is $36.

(c) The monopoly’s total surplus is $60.

(d) The monopoly captures consumer surplus of $36.

(¢) The monopoly’s total surplus is $72.

11. Consider the following demand functions in two separate markets:
market1 q; = —2P, + 6, market2 q, = —2P, + 4.
Let the short-run tofal cost function for this firm be SRTC = 1/2 + (a1 + g3), and let
total output produced by the firm, Q = g, + q,. Profit maximization for this firm is

then ’
(a) The price in the market 2 is lower than that in the market 1.
(b) The price in the market 1 is lower than that in the market 2.
(c) The total deadweight loss is $5/4.
(d) The profit for this firm is $3.
() Total preducer surplus for this firm is $3.5.

(Please answer Question 12 and 13)

Given linear market demand and short-run total cost functions for the duopoly
P=14-(gq:+ qz), SRTG=2g;+ 5,§=1,2,

Profit maximization for the duopoly is

12.Then
(a) Nash equilibrium price is $8.
(b) Nash equilibrium outputs are qf = qf = 4,

A# &
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(c) Cournot firms’ profits are 7f = $14, j=1,2,
(d) Cournot firms’ profits are 'rt]-c =$11, j=1,2,
(e) Nash equiiibrium price is $5.

13. if now firm 1 is & Stackelberg leader and firm 2 a Cournot follower, then Firm
I’s and firm 2’s outputs are g, q5, market price is PS, profits ,j = 1,2, On the
other hand, if the two firms collude (joint output) price, output and profit are
Q™,P™, and ™. Then, :

(@) qi =895 =4,

() q1 =6,q93 =3,

{c) n§ =$13, nS =36,
(M Q™ =6,P™ = 4§10,
(e) P™ = $8, '™ = $26.
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